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Q.1 Select the figure that will replace the question mark (?) in the following figure series.
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Q.2 In a company, Suresh's position is seventy five from the right end and eleventh from
the left end, how many employees are there in that company?

Ans X A 82

X B.83
o C.85

X D. 86

Question ID : 7532291830

Q.3 From the given alternatives select the one in which the question figure is
hidden/embedded.
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Question ID : 7532291841

Q.4 In the following question, select the missing number from the given series.

48, 24, 36, 90, ?
Ans X A 415

X B.115
o C.315
K D.215

Question ID : 7532291837
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Q.5 Two statements are followed by two conclusions numbered | and II. You have to
consider these statements to be true, even if they seem to be at variance with
commonly known facts. Decide which of the given conclusions logically follow/s from
the given statement.

Statement:
No road is traffic.
Some traffic are licence.

Conclusions:
(I) Some licence are road.
(I1) No licence are road.

Ans X A. Only | follow
4" B. Either | or Il follows
#< C. Neither | nor Il follows
< D. Only Il follows

Question ID : 7532291832

Q.6 Find the missing term in the following letter-cluster series given below:
R9AP, Z17IX, H25QF, ? , X41GV
Ans o A P33YN
2 B.Q33YM
< C.P32VN
X D.R32YN

Question ID : 7532291826

Q.7 In the question below, a statement is followed by two conclusions. Study the
conclusions and select the correct option as the answer.

Statement:

Q>R>S2P
Conclusions:
I.S>P
I.S=P

Ans X A.Bothland Il follow
< B. Only Il follows
+" C. Either | or Il follows
X D. Neither I nor Il follows

Question ID : 7532291836
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Q.8 In the following figure, triangle represents ladies, circle represents traditional outfit,
pentagon represents western outfit and square represents sarees.

What does letter ‘L’ represents?

D GR

m

Ans  # A. Ladies who prefer western outfit and sarees but not traditional outfit.
#< B. Ladies who prefer western outfit, sarees and traditional outfit
& C. Ladies who prefer western outfit and traditional outfit but not sarees

5 D. Ladies who prefer traditional outfit and sarees but not western outfit.

Question ID : 7532291838

Q.9 Find the number of rectangle in the given figure.

adda

Ans X A 11
X B.6
& C. 10
X D.9

Question ID : 7532291843

Q.10 Three statements are followed by two conclusions numbered | and Il. You have to
consider these statements to be true, even if they seem to be at variance with
commonly known facts. Decide which of the given conclusions logically follow/s from
the given statement.

Statement:

No lake are river.

All river are valleys.
Some valley are hills.

Conclusions:
(I) Some hills are rivers
(I1) Some rivers are valleys.

Ans X A Bothland Il follow
25 B. Only | follow
«” C. Only Il follows
25 D. Neither | nor Il follows

Question ID : 7532291833
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Q.11 From the given alternatives select the one that will complete the question figure.

W
4

?
Ans
X A % :
X c.
X D.

Question ID : 7532291844

Q.12 Find the wrong term in the letter-cluster series given below:

TLCN, DVMX, NFWH, XRGR, HZQB
Ans X A NFWH

X B.DVMX
X C.HzQB
«" D. XRGR

Question ID : 7532291825
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Q.13 From the given alternatives select the one which is the mirror image of given Question
Figure .

[T =
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Ans
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adda

Q.14 If in a certain language, TRIANGLE is coded as “34821659”. How is ‘REALIGN’ coded
in that code?

Ans X A. 9425861

Question ID : 7532291842

X B. 2946851
X C.4925816
o D. 4925861

Question ID : 7532291829
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Q.15 Three statements are followed by three conclusions numbered |, Il and Ill. You have to
consider these statements to be true, even if they seem to be at variance with
commonly known facts. Decide which of the given conclusions logically follow/s from
the given statement.

Statement:

Some radio are moon.
Some moon are sun.
Some sun are ocean

Conclusions:

(I) Some moon are ocean.
(I1) No moon are ocean.
(Ill) Some radio are sun.

Ans X A.Only | and Il follows
#5 B. None follows
< C. Only I follow
«” D. Either | or Il follows

Question ID : 7532291834

Q.16 In the following figure, triangle represents social gatherings, circle represents
weekend parties, pentagon represents college reunion, rectangle represents marriage
parties and square represents youngsters.

What does letter ‘G’ represents?

B
\o |
Q \edlE G
/;\NM

2 i adda

Ans X A. Youngsters who like social gatherings, college reunion and marriage parties but not
weekend parties

% B. Youngsters who like social gatherings, college reunion, marriage parties and
weekend parties

25 C. Youngsters who don't like social gatherings, college reunion, but marriage parties
and weekend parties

4 D. Youngsters who like social gatherings and college reunion but not weekend and
marriage parties

Question ID : 7532291839

Q.17 Select the set of numbers that is similar to the following set of numbers.
(6, 36, 63)
Ans o A 8, 64,46
X B. 11,111, 84
25 C.7,49,98
X D.9, 84,45

Question ID : 7532291835
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Q.18 Six persons Rahul, Pankaj, Praveen, Puneet, Rajat and Pawan are sitting in a row of
office at different positions, and each got different salary i.e. - 20000, 10000, 8000,
50000, 45000and30000, but not necessarily in the same order. Rajat got 45000 salary.
Praveen has neither got 8000 nor 30000 salary. The one who gets salary 8000 does not
sit at the extreme end of the row. Rajat is sitting between Puneet and Pankaj. Praveen
is second to the left of Puneet. Rahul is sitting at the left end of the row and got 50000
salary. Pawan sits near Praveen and gets 10000 salary.

How much salary did Pankaj get?
Ans X A. 20000

X B. 8000
< C. 20000 or 30000
" D. 30000

Question ID : 7532291831

Q.19 In the following question, select the related word from the given alternatives.

BACK : DBFV : : HEAL : ?
Ans X A.PBXJ
X B.JGCN
X C.KXJB
& D. PJBX

Question ID : 7532291827

Q.20 In the following question, select the related word pair from the given alternatives.
Iraq: Baghdad : : ?: ?
Ans  # A. Syria : Damascus
#5 B. Afghanistan : Islamabad
< C. United Arab Emirates : Riyadh
2 D. Saudi Arabia : Abu Dhabi

Question ID : 7532291828

Section : General Awareness

Q.1 Name the Padma Shri awardee Dogri writer and poet who passed away recently.
Ans X A. Sridhar vembu

25 B. Birubala rabha
/< C. Rangaswamy kashyap
" D. Padma Sachdev

Question ID : 7532291863

Q.2 Which of the given options is not included in the state’s list?
Ans 4 A. National Defence

/& B. Law and Order
2% C. Education
/< D. Agriculture

Question ID : 7532291855
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Q.3 Who is the present Union Minister for Science & Technology?
Ans X A. Piyush goyal

4 B. Jitendra Singh

< C. Jyotiraditya scindia

& D. Smriti Irani

Question ID : 7532291864

Q.4 Which of the following festival is also known as Gokulashtami?

Ans  # A. Janmashtami
/5 B. Ramnavami
X C. Rakshabandhan

2 D. Guru Nanak Jayanti

Question ID : 7532291847

Q.5 Which one of the following fossil fuels is considered environment friendly?

Ans X A. Petroleum
& B. Coal
X C. Kerosene

" D. Natural Gas

Question ID : 7532291858

Q.6 Dr. Annie Besant and Lokmanya Tilak set up the
Irish movement to spread awareness.

X A. Gadar Party

Ans
25 B. Indian National Congress
X C. Satyagraha
" D. Home Rule league

in the country modeled on the

ad@

Question ID : 7532291861

Q.7 Who was The first Women External Affair Minister of India?

Ans X A. Mrs Pratibha Patil
. B. Mrs Sonia Gandhi
25 C. Mrs Jayalalitha

" D. Mrs Indira Gandhi

Question ID : 7532291851

Q.8 The mode of nutrition found in mushrooms is
25 A. Holozoic

¥ B. Saprophytic
< C. Symbiotic

Ans

25 D. Parasitic

Question ID : 7532291857
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Q.9 The finest quality of iron ore is
Ans X A. Siderite

#5 B. Hematite
25 C. Limonite
" D. Magnetite

Question ID : 7532291859

Q.10 Which is the oldest political party of India?
Ans X A.All India Anna Dravida Munnetra Kazhagam

«" B. Indian National Congress
25X C. Communist Party
5 D. Bharatiya Janta Party

Question ID : 7532291856

Q.11 Which of the following awards did not get Mahendra Singh Dhoni?
Ans X A. Rajiv Gandhi Khel Ratna

X B. Padma Bhushan
" C. Padma ViBhushan
#< D. Padma Shri

Question ID : 7532291850

Q.12 Which of the following monuments are not in the state of Gujarat?
Ans X A. Palitana

+" B. Sunehri Mahal
& C. Lakhpat
25 D. Somnath temple

Question ID : 7532291846

Q.13 The is a collection of 1,028 hymns divided into 10 mandalas.
Ans X A. Yajurveda

#5 B. Atharvaveda
" C. Rigveda
& D. Samaveda

Question ID : 7532291860

Q.14 Tsang Yin-hung, recorded “world’s fastest ascent of Everest by a woman” in just
hours.

Ans X A. 18 hours
#< B. 14 hours
& C. 22 hours
4" D. 26 hours

Question ID : 7532291852
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Q.15 The Axis powers of the second world war were Germany ,ltaly and
Ans X A.France

#5 B. Poland
< C. Austria
" D. Japan

Question ID : 7532291862

Q.16 Ramman is a religious festival of which state?
Ans X A.Bihar

% B. Jharkhand
4 C. Uttarakhand
2 D. Uttar Pradesh

Question ID : 7532291845

Q.17 Who was the first Indian to be awarded the ‘Rajiv Gandhi Khel Ratna’ award?
Ans X A.Vinesh Phogat

«# B. Vishwanathan Anand
25 C. Manika Batra
#< D. Abhinav Bindra

Question ID : 7532291849

Q.18 The term ‘Googly’ is used in which sport?
Ans X A. Hockey

" B. Cricket
& C. Football
25 D. Baseball

Question ID : 7532291848

Q.19 What was the period of the 11th five-year plan of India?
Ans X A. 2017 to 2022

X B. 2002 to 2007
X C.201210 2017
& D. 2007 to 2012

Question ID : 7532291853

Q.20 is the security which lenders demand against loan.
Ans  # A. Collateral

< B. Cheque
X C. Letter
& D. Draft

Question ID : 7532291854

Section : Arithmetic Ability
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o If the diameter of the base of a right circular cylinder is reduced by 33; percent

and its height is doubled. then the volume of the cylinder will?

Ans X A Remain unchanged

+ B. Decrease by 11; percent
X C. Increase by 11; percent

X D. Increase by lé percent

Question ID : 7532291881

Q.2 A person spends 35 percent of his total salary in Food, 30 percent he invests in a
scheme and remaining amount he saves. If his savings is Rs.4340, then how much
amount he invests?

Ans X A. Rs.4320
7 B.Rs.2840
& C.Rs.3720
7 D. Rs.2680

Question ID : 7532291871

Q.3 The difference between compound interest (annually) and simple interest on a certain
sum at 10 percent per annum for 2 years is Rs.42. What is the sum?

Ans X A. Rs.8400
X B. Rs.5200
X C.Rs.2100
« D. Rs.4200

Question ID : 7532291876
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Q.4 The following bar graph shows the total number of news paper readers (in thousands)
in a city during 6 months and percentage of Hindi news paper readers.

160 150

Jan Feb Mar Apr May Jun

mTotal readers 8 % of Hindi news paper readers

Note : Total readers = Hindi news paper readers + English news paper readers

What is the difference between Hindi news paper readers during January, February
and March together and English news paper readers during April, May and June
together?

Ans X A. 138700
% B. 175600
% C. 164200
& D. 154500

Question ID : 7532291884

https://cdn.digialm.com//per/g01/pub/1258/touchstone/AssessmentQPHTMLMode1/1258021437/1258021437S76D33/163...

Q.5 Mr. Ganguly purchased 50000 mangoes at 8 each. He found that 20 percent of those

were spoilt and hence were found unfit to be sold. At what price uld hesell each of
the remaining mangoes so as to get an overall profit of 30 perce
Ans o A 13

X B.12

X D.10

X C.15
Question ID : 7532291873

Q.6 A person covers a certain distance in 90 steps. If he increases the length of each step
by 20 percent, then find the percentage decreased in the number of steps to cover the
same distance.

Ans A T75
< B.65
/< C.60
< D.80

Question ID : 7532291870
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7
@ Ifa=225.b=226 andc =227, thenthevalueofa® + b* + ¢ — 3abcis :

Ans X A. 2394
X< B.2934
X C. 1956
& D. 2034

Question ID : 7532291865

Q.8 A person wants to make an open silver case for a mobile such that the mobile exactly
fits in the case. If the length, breadth, and thickness of the mobile are 10 cm, 4 cm, and

0.5 cm respectively and the rate of the silver sheet used is Rs.50 per cmz, then what
can be the cost of the silver case?

Ans X A.Rs.3000
# B.Rs.2500
& C.Rs.2700
7 D. Rs.3200

Question ID : 7532291882

Q.9 Three pipes can fill a tank of 900 liters in 1hour. The rate of the first pipe is 3 liters per
minute and the ratio of the rate of the second pipe to the third pipe is 3 : 1. What is the
time to fill an empty tank of 1500 liters when the first pipe and second pipe, work
together?

Ans X A. 150 min
" B. 125 min
2 C.80 min
#< D. 90 min

Question ID : 7532291879

Q.10 What is the greatest number that will divide 209 an
respectively?

Ans X A 23
o B.17
X C.16
X D.19

Question ID : 7532291868

Q.11 By selling an article, a shopkeeper incurs a loss of 16 percent but if he increases the
selling price by Rs.140, there would be a profit of 24 percent. Calculate the cost price
of the article.

Ans 4 A Rs.350
< B. Rs.440
75 C.Rs.280
75 D.Rs.610

Question ID : 7532291872
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Q.12 The given table shows the rate of compound interest given by six banks on fixed

deposits.
Bank Rs.10000 to Rs.100000 to | Rs.300000 to | Rs.1000000 or

Rs.99999 Rs.499999 Rs.999999 more

A 5% 55% 6% 6.5%

B 52% 6% 6.3% 7%

C 4% 4.2% 3% 5.8%

D 6% 7% 8% 9%

i 6% 6.5% 7% 8%

F 3% 6% 6.5% 7%

If a person deposits Rs.600000 in fixed deposits for 2 years in bank C and Rs.200000 in
fixed deposits for 2 years in bank F, then what is the total interest earned by him from
both banks?

Ans X A. Rs.90210
7< B. Rs.80440
o C. Rs.86220

/< D. Rs.84280

Question ID : 7532291883

Q.13 If 10 persons can do a job in 20 days. Then 20 persons with the twice efficiency can do
the same job in:

& A. 10 days
X B. 12 days
«" C.5days
& D. 15 days

Ans

e

Question ID : 7532291880

Q.14 What value will come in place of question mark (?) i
702 X 18 + 81 - v441 = ? percent

Ans X A. 400
% B. 150
% C. 200

& D. 300

Question ID : 7532291866

Q.15 What value will come in place of question mark (?) in the following question?

11 %11x% 11+5x5 %5
(11)*+(5)*-11 x5

=

Ans X A 12
X B.15
X C.13

o D. 16

Question ID : 7532291867

https://cdn.digialm.com//per/g01/pub/1258/touchstone/AssessmentQPHTMLMode1/1258021437/1258021437S76D33/16328349647733845/4...  15/46



10/1/21, 10:35 AM https://cdn.digialm.com//per/g01/pub/1258/touchstone/AssessmentQPHTMLMode1/1258021437/1258021437S76D33/163...

Q.16 A boat goes 48 km upstream and 56 km downstream in 12 hours. It goes 60 km
upstream and 42 km downstream in 13 hours. Find the speed of boat in still water (in

kmph)?
Ans & A 10

X B.14
X C.20
X D.24

Question ID : 7532291877

Q.17 In a survey among some people, it is found that their average protein diet is 60 mg per
day. After a suggestion, 30 percent of them doubled their protein diet while the rest
tripled their protein diet. The new average of their protein diet is 155 mg/day. What is
the earlier average protein diet of 30 percent of them?

Ans X A. 48 mg/day
" B. 50 mg/day
X C. 54 mg/day
X D. 45 mg/day

Question ID : 7532291869

Q.18 A beats B by 125 m in a kilometer race. Find B’s speed if A’s speed is 16 m/sec.
Ans X A. 21 m/sec

#< B. 18 m/sec
& C. 7 mi/sec
«" D. 14 m/sec

l Question.ID-: 7532291878

Q.19 Ratio of milk and water in a mixture is 5 : 4 and 45 litres of mixtu re taken out and
15 litres water is added. Now, quantity of milk in the mi e e itres
than that of water, then what is the initial quantity of e

Ans  # A 216 litres

< B. 213 litres

X C. 190 litres
& D. 172 litres

Question ID : 7532291875

Q.20 In a colony, the ratio of two-wheelers to four-wheelers is 11 : 9. Among the four-
wheelers, one-fourth are petrol and the remaining 81 are diesel. How many two-
wheelers are there in the colony?

Ans A 132
/5 B.88
75 C.99
< D. 121

Question ID : 7532291874

Section : General English
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Q.1 One part of the sentence below may contain an error. Identify the part. If there is no
error, choose ‘No error’.

The Delhi Government and the students has contended that the single judge’s
decision was based on incorrect facts.

Ans X A. contended that the single judge’s decision
+#" B. The Delhi Government and the students has
& C.No error

25 D. was based on incorrect facts

Question ID : 7532291885

Q.2 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute the underlined segment, select ‘No
improvement’.

The sun rises two hours earliest in Arunachal Pradesh as compared to Gujarat.

Ans  # A two hours earlier
#< B. No improvement
& C. two hours early
25 D. two hours’ early

Question ID : 7532291887

Q.3 In the following question, there are six sentences marked S1, S6, P, Q, R, and S. The
positions of S1 and S6 are fixed. You are required to choose one of the four
alternatives which would be the most logical sequence of the sentence in the passage.

S1. Jeff is an excellent dancer

P. who always tries new dance steps
Q. while the rest of the class struggles
R. that are demonstrated

S. and masters them quickly

S6. to move their bodies on the tunes.
Ans X A RPQS
X C.QRPS

X D.SQPR

Question ID : 7532291892

Q.4 Select the most appropriate antonym for the given word.

Grumble
Ans  # A. Compliment
& B. Dangle
25 C. Calamity
#< D. Complain

Question ID : 7532291894
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Q.5 One part of the sentence below may contain an error. Identify the part. If there is no
error, choose ‘No error’.

A quick analysis suggests that the sources that contribute to poor urban air quality
are constant.

Ans X A. Urban air-quality are constant
< B. A quick analysis suggests that
X C. The sources that contribute to poor

«" D. No error

Question ID : 7532291886

Q.6 Select the word which means the same as the following group of the words.

Open refusal to obey orders.
Ans X A. Obedience
4" B. Defiance
< C. Compliance
< D. Adherence

Question ID : 7532291899

Q.7 Select the most appropriate option to fill in the blank.

Emperors need more resources kings because empires are larger than

kingdoms.
Ans X A as

& B.of

& C.for
" D. than

Question ID : 7532291889

Q.8 Select the INCORRECTLY spelt word.
Ans X A. Pamphlet

X B. Pageant
" C. Potraite
< D. Persevere

Question ID : 7532291895

Q.9 Select the most appropriate option to substitute the bracketed part in the given
sentence. If there is no need to substitute the bracketed part, select ‘No improvement’.

| gave the countryman (what few money | had) in my pocket, for the timely assistance
he had afforded me.

Ans  # A. No Improvement.
#< B. what less money | had
& C. the few money | had
2 D. what little money | had

Question ID : 7532291888
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Q.10 Select the CORRECTLY spelt word.
Ans X A. Administrater

4" B. Administrator
< C. Administratur
2 D. Aministretor

Question ID : 7532291896

Q.11 In the following question, out of the four given options, select the one which best
expresses the meaning of the idiom/phrase.

Once in a blue moon.
Ans X A.Incessantly

5 B. Occasionally
" C. Very rarely
25 D. Frequently

Question ID : 7532291897

Q.12 Baroque temple by the Scottish architect
Ans X A. rewarded

< B. crowded
X C. conducted
«" D. designed

[ Question ID : 7532291891

Q.13 Select the most appropriate option to fill in the blanks.

The higher faculty is a insight or intuitionthat __ us erience the ocean
of Consciousness.
Ans X A. deep, help a a
2 B. deeply, helps

" C. deep, helps

25 D. deeply, helping

Question ID : 7532291890

Q.14 In the following question, out of the four given options, select the one which best
expresses the meaning of the idiom/phrase.

An eye opener
Ans X A. A small opening
«" B. A shocking revelation
25 C. A difficult task
. D. A tough decision

Question ID : 7532291898
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Ans

Q.15 Select the most appropriate synonym for the given word.

Grim
< A. Peevish
X B. Bluff
o C. Gloomy
25 D. Cheerful

Question ID : 7532291893

Ans

Comprehension:
Read the following passage and answer the questions below.

Arthur Christopher Orme Plummer was a Canadian actor. His career spanned seven
decades, gaining recognition for his performances in film, television and theatre. He made his
Broadway debut in 1954 and continued to act in leading roles on stage playing Cyrano de
Bergerac in Cyrano (1974), lago in Othello, as well as playing the titular roles in Hamlet at
Elsinore (1964), Macbeth, King Lear, and Barrymore. Plummer performed in stage
productions, including J.B., No Man's Land and Inherit the Wind. Plummer was born in
Toronto, Ontario, and grew up in Senneville, Quebec.

After appearing on stage, he made his film debut in Stage Struck (1958), landed his first
starring role that same year in Wind Across the Everglades and won great acclaim for his
performance as Captain Georg von Trapp in the musical film The Sound of Music (1965)
alongside Julie Andrews. Plummer played numerous major historical figures, including
Commodus in The Fall of the Roman Empire (1964), Arthur Wellesley, 1st Duke of Wellington
in Waterloo (1970), Rudyard Kipling in The Man Who Would Be King (1975), Mike Wallace in
The Insider (1999), Leo Tolstoy in The Last Station (2009), Inside Man (2006), Kaiser Wilhelm
Il'in The Exception (2016), and J. Paul Getty in All the Money in the World (2017). Other films
including Malcolm X (1992), A Beautiful Mind (2001), The New World (2005), The Girl with the
Dragon Tattoo (2011), and Knives Out (2019).

Plummer received various awards for his work, including an Academy Award, two Primetime
Emmy Awards, two Tony Awards, a Golden Globe Award, a Screen Actors Guild Award, and
a British Academy Film Award. He is one of the few performers to-have received the Triple
Crown of Acting, and the only Canadian. He won the Academy Award for Best Supporting
Actor at the age of 82 for Beginners (2010), becoming the oldest person to win an acting
award (a distinction he held until being supplanted by 83-year-old Anthony Hopkins in 2021),

and he received a nomination at the age of 88 for All the Money in the World, ing him the
oldest person to be nominated in an acting category.
SubQuestion No : 16

Q.16 Which of the following statements is incorrect accor t n e?

< A. Plummer won the Academy Award for Best Supporting Actor at the age of 82.
< B. Plummer won a Screen Actors Guild Award.
# C. Plummer never won the Triple Crown of Acting.

#< D. Plummer won a Golden Globe Award.

Question ID : 7532291901
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Comprehension:
Read the following passage and answer the questions below.

Arthur Christopher Orme Plummer was a Canadian actor. His career spanned seven
decades, gaining recognition for his performances in film, television and theatre. He made his
Broadway debut in 1954 and continued to act in leading roles on stage playing Cyrano de
Bergerac in Cyrano (1974), lago in Othello, as well as playing the titular roles in Hamlet at
Elsinore (1964), Macbeth, King Lear, and Barrymore. Plummer performed in stage
productions, including J.B., No Man's Land and Inherit the Wind. Plummer was born in
Toronto, Ontario, and grew up in Senneville, Quebec.

After appearing on stage, he made his film debut in Stage Struck (1958), landed his first
starring role that same year in Wind Across the Everglades and won great acclaim for his
performance as Captain Georg von Trapp in the musical film The Sound of Music (1965)
alongside Julie Andrews. Plummer played numerous major historical figures, including
Commodus in The Fall of the Roman Empire (1964), Arthur Wellesley, 1st Duke of Wellington
in Waterloo (1970), Rudyard Kipling in The Man Who Would Be King (1975), Mike Wallace in
The Insider (1999), Leo Tolstoy in The Last Station (2009), Inside Man (2006), Kaiser Wilhelm
Il 'in The Exception (2016), and J. Paul Getty in All the Money in the World (2017). Other films
including Malcolm X (1992), A Beautiful Mind (2001), The New World (2005), The Girl with the
Dragon Tattoo (2011), and Knives Out (2019).

Plummer received various awards for his work, including an Academy Award, two Primetime
Emmy Awards, two Tony Awards, a Golden Globe Award, a Screen Actors Guild Award, and
a British Academy Film Award. He is one of the few performers to have received the Triple
Crown of Acting, and the only Canadian. He won the Academy Award for Best Supporting
Actor at the age of 82 for Beginners (2010), becoming the oldest person to win an acting
award (a distinction he held until being supplanted by 83-year-old Anthony Hopkins in 2021),
and he received a nomination at the age of 88 for All the Money in the World, making him the
oldest person to be nominated in an acting category.

SubQuestion No : 17
Q.17 Arthur Christopher Orme Plummer was a person whose career spanned -
Ans X A. Four decades.

/< B. Five decades.
«# C. Seven decades.
& D. Six decades.

Question ID : 7532291905

https://cdn.digialm.com//per/g01/pub/1258/touchstone/AssessmentQPHTMLMode1/1258021437/1258021437S76D33/16328349647733845/4...  21/46



10/1/21, 10:35 AM

https://cdn.digialm.com//per/g01/pub/1258/touchstone/AssessmentQPHTMLMode1/1258021437/1258021437S76D33/163...

Ans

Comprehension:
Read the following passage and answer the questions below.

Arthur Christopher Orme Plummer was a Canadian actor. His career spanned seven
decades, gaining recognition for his performances in film, television and theatre. He made his
Broadway debut in 1954 and continued to act in leading roles on stage playing Cyrano de
Bergerac in Cyrano (1974), lago in Othello, as well as playing the titular roles in Hamlet at
Elsinore (1964), Macbeth, King Lear, and Barrymore. Plummer performed in stage
productions, including J.B., No Man's Land and Inherit the Wind. Plummer was born in
Toronto, Ontario, and grew up in Senneville, Quebec.

After appearing on stage, he made his film debut in Stage Struck (1958), landed his first
starring role that same year in Wind Across the Everglades and won great acclaim for his
performance as Captain Georg von Trapp in the musical film The Sound of Music (1965)
alongside Julie Andrews. Plummer played numerous major historical figures, including
Commodus in The Fall of the Roman Empire (1964), Arthur Wellesley, 1st Duke of Wellington
in Waterloo (1970), Rudyard Kipling in The Man Who Would Be King (1975), Mike Wallace in
The Insider (1999), Leo Tolstoy in The Last Station (2009), Inside Man (2006), Kaiser Wilhelm
Il 'in The Exception (2016), and J. Paul Getty in All the Money in the World (2017). Other films
including Malcolm X (1992), A Beautiful Mind (2001), The New World (2005), The Girl with the
Dragon Tattoo (2011), and Knives Out (2019).

Plummer received various awards for his work, including an Academy Award, two Primetime
Emmy Awards, two Tony Awards, a Golden Globe Award, a Screen Actors Guild Award, and
a British Academy Film Award. He is one of the few performers to have received the Triple
Crown of Acting, and the only Canadian. He won the Academy Award for Best Supporting
Actor at the age of 82 for Beginners (2010), becoming the oldest person to win an acting
award (a distinction he held until being supplanted by 83-year-old Anthony Hopkins in 2021),
and he received a nomination at the age of 88 for All the Money in the World, making him the
oldest person to be nominated in an acting category.

SubQuestion No : 18

Q.18 Arthur Plummer was born in Canada but he grew up in -

& A. Quebec
/< B. Mongolia
#5< C. Toronto
< D. Hong Kong

Question ID

. 7532291903
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Comprehension:
Read the following passage and answer the questions below.

Arthur Christopher Orme Plummer was a Canadian actor. His career spanned seven
decades, gaining recognition for his performances in film, television and theatre. He made his
Broadway debut in 1954 and continued to act in leading roles on stage playing Cyrano de
Bergerac in Cyrano (1974), lago in Othello, as well as playing the titular roles in Hamlet at
Elsinore (1964), Macbeth, King Lear, and Barrymore. Plummer performed in stage
productions, including J.B., No Man's Land and Inherit the Wind. Plummer was born in
Toronto, Ontario, and grew up in Senneville, Quebec.

After appearing on stage, he made his film debut in Stage Struck (1958), landed his first
starring role that same year in Wind Across the Everglades and won great acclaim for his
performance as Captain Georg von Trapp in the musical film The Sound of Music (1965)
alongside Julie Andrews. Plummer played numerous major historical figures, including
Commodus in The Fall of the Roman Empire (1964), Arthur Wellesley, 1st Duke of Wellington
in Waterloo (1970), Rudyard Kipling in The Man Who Would Be King (1975), Mike Wallace in
The Insider (1999), Leo Tolstoy in The Last Station (2009), Inside Man (2006), Kaiser Wilhelm
Il 'in The Exception (2016), and J. Paul Getty in All the Money in the World (2017). Other films
including Malcolm X (1992), A Beautiful Mind (2001), The New World (2005), The Girl with the
Dragon Tattoo (2011), and Knives Out (2019).

Plummer received various awards for his work, including an Academy Award, two Primetime
Emmy Awards, two Tony Awards, a Golden Globe Award, a Screen Actors Guild Award, and
a British Academy Film Award. He is one of the few performers to have received the Triple
Crown of Acting, and the only Canadian. He won the Academy Award for Best Supporting
Actor at the age of 82 for Beginners (2010), becoming the oldest person to win an acting
award (a distinction he held until being supplanted by 83-year-old Anthony Hopkins in 2021),
and he received a nomination at the age of 88 for All the Money in the World, making him the
oldest person to be nominated in an acting category.

SubQuestion No : 19
Q.19 According to the given passage, the character Arthur Wellesley belongs to?
Ans " A. Waterloo

/< B. The Exception
< C. A Beautiful Mind
& D. The New World

Question ID : 7532291902
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Comprehension:
Read the following passage and answer the questions below.

Arthur Christopher Orme Plummer was a Canadian actor. His career spanned seven
decades, gaining recognition for his performances in film, television and theatre. He made his
Broadway debut in 1954 and continued to act in leading roles on stage playing Cyrano de
Bergerac in Cyrano (1974), lago in Othello, as well as playing the titular roles in Hamlet at
Elsinore (1964), Macbeth, King Lear, and Barrymore. Plummer performed in stage
productions, including J.B., No Man's Land and Inherit the Wind. Plummer was born in
Toronto, Ontario, and grew up in Senneville, Quebec.

After appearing on stage, he made his film debut in Stage Struck (1958), landed his first
starring role that same year in Wind Across the Everglades and won great acclaim for his
performance as Captain Georg von Trapp in the musical film The Sound of Music (1965)
alongside Julie Andrews. Plummer played numerous major historical figures, including
Commodus in The Fall of the Roman Empire (1964), Arthur Wellesley, 1st Duke of Wellington
in Waterloo (1970), Rudyard Kipling in The Man Who Would Be King (1975), Mike Wallace in
The Insider (1999), Leo Tolstoy in The Last Station (2009), Inside Man (2006), Kaiser Wilhelm
Il 'in The Exception (2016), and J. Paul Getty in All the Money in the World (2017). Other films
including Malcolm X (1992), A Beautiful Mind (2001), The New World (2005), The Girl with the
Dragon Tattoo (2011), and Knives Out (2019).

Plummer received various awards for his work, including an Academy Award, two Primetime
Emmy Awards, two Tony Awards, a Golden Globe Award, a Screen Actors Guild Award, and
a British Academy Film Award. He is one of the few performers to have received the Triple
Crown of Acting, and the only Canadian. He won the Academy Award for Best Supporting
Actor at the age of 82 for Beginners (2010), becoming the oldest person to win an acting
award (a distinction he held until being supplanted by 83-year-old Anthony Hopkins in 2021),
and he received a nomination at the age of 88 for All the Money in the World, making him the
oldest person to be nominated in an acting category.

SubQuestion No : 20

Q.20 Mr. Arthur Plummer played many historical characters. In which movie he played the
role of Commodus?

Ans # A The Fall of the Roman_Empire.
#< B. The Man Who Would Be King.
25 C. All the Money in'the World.
#5 D. The Insider.

Question ID : 7532291904

Section : General Hindi

Q1 PR el § | $1-91 I/ YIaars &1 98t 3eTevvl 22

Ans X A J 9% T=Y ¢E ol A |
X B. & S g gl
& C. T Y 937 781 S
X D. Fifiar &9 T8t Wbt

Question ID : 7532291917

Q.2 fy=fafad ® A TR 919 &1 99 BIfom-
Ans X A IGPHHR A TS $I AR ST 3R W& o7 & 11

o B. 3T TAd SR b SUT HHR|
2 C. 3T T4 {3 3Mues) THwT 1 87
< D. S safda S § 98 fdht § st T8t rar 31

Question ID : 7532291916

https://cdn.digialm.com//per/g01/pub/1258/touchstone/AssessmentQPHTMLMode1/1258021437/1258021437S76D33/16328349647733845/4...  24/46



10/1/21, 10:35 AM https://cdn.digialm.com//per/g01/pub/1258/touchstone/AssessmentQPHTMLMode1/1258021437/1258021437S76D33/163...
Q.3 fyAfafed ¥ @ weg-gm & w8t srd-dg &1 7 Fifve-
qT1d - dTd
Ans X A ®lel-ad
X B.TH-3
XcTa-a
o D. 9 - STadid

Question ID : 7532291911

Q4 =l & 3 Si9-91 Mg SoIaTad T WG BT 3GIET0T 82
Ans X AT

X B.3d

& C. 31

X D. gsRIEe

Question ID : 7532291909

Q.5 =t ® | oy area & Qieie fae &1 v 98 fear mar @2
Ans X' A HH-I-HH, TG-H-STET|
X B. 51 9t &1 OTa1-fUdT &1 a1 3a=d -1 A1

X C. ISR B FHTA - B S1ed BT 7Y, fwrelt g0 a@rfl; sred TRem @l 3R auf &t §g <
- 7Y Rt W A @i

o D. "YgHa AT el Tefl @SS S R o= T s 1"

Question ID : 7532291920

N - - — - - o—

Q.6 fA=fIfad # & TR e &1 I8 HIfore-

Ans X A TIRd
X c.fagm

¥ D. 3T

Question ID : 7532291915

Q.7 frfaf@d 3 @ dga g 31 997 FIRT-
Ans XA_W

X B.IUH

o C.3d

X D. aRaT

Question ID : 7532291907

Q.8 frEfafEd d / e o1 faaw e B 32
Ans X A fozam

75 B. g

X c.@an

« DT

Question ID : 7532291912
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Q.9 f=fafed & | “ARgwe & Hi4-a1 99 82
X A Gg IA

X B. fgy 9™

o C. TGz I

X D. SHYRY AN

Ans

Question ID : 7532291906
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Q.10 fffRd & | H1H-97 g TIg BT TGN B T141 T[T 872
X A R

X B. 31YPBERT

X C. RT3

o D. JTSTga

Ans

Question ID : 7532291908

Q11+ i e are § 5w FRe $t ufaa o1 wan fa wn g
3 TSP BT 95 B |

o A TEIYT PRD

X B. 3UTGH HREH

% C. S BREb

X D. TUCH RS

Ans

Q.12 3y T arRIT F T Ue 2eg H1 TU FiRE-
faafRa Wi @ U= g

o A 3T

X B. fhac=it

X C. e

X D. e

Ans

Question ID : 7532291914

Question ID : 7532291913

Q.13 ffifad # @ geravt "ara fedt § dear o1 o 82
X A. ST = ara|

X B. 41 TG P et & ug

X C. YO & E1

o D. 3FSH I

Ans

Question ID : 7532291918

Q.14 fFrAfafEd & § F-a1 AeifH o1 TaRaad F9 82
X A. 1% TR A g2 foars 98 .1 9H IR RS |
& B. ST TR 7 % fYars ag a1 o UR WIS
X C. 9% WA e o 9t a1 o Uk TeT8|
X D. 9% R T we fYarg a8 a1 oM AR s |

Ans

Question ID : 7532291919
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Q.15

Ans

el & @ sra.qR &1 yafgard wreg H19-ar 76 82
o A T
X B. A
X C. SAEE

Z D. HITR

Question ID : 7532291910

Q.16
Ans

Comprehension:

ffRad TR &1 erydd 31eTae R U=l & IR aiforg-

T AR 307 U9 & SR & AR 1 TaT & oY SiY S 5 | dRal &t Sifiyeafad oS UoR 9 g @,
W TSI-TA ¥, T I8 , Al AT IefaR & G i 3 A A R, A Pt s &
Wﬁiwﬁmﬁ@aﬁwﬁmamﬁaaﬁﬁl FRAT T THR B 3f: RO B
e Fft ITaT AT gon avft T e, T 31, U 98R TR H &7 715 | dRar gasn el sk
T Bt 31 IR1 ) S & BRER 76T 131 3 A 3aaR P g4 B Wifdl Sitaw T o & @ e
B & 3R o forht 3 urit fo, o foreht 3 g fAremme sgd §1 Sftae & &g & o &1 8l
T B! I IR TGl 4 T 5l SN13M | FEX B UG BISHR oiia b 3R $I gl § Ugd a9 ¢
1 el |+ Te) dikar &1 IR B
SubQuestion No : 16
ST e $1 waifie i e = & & a1 37

X A IR &1 -0

& B. =l aRan

2 C. IRaAl BT IR

7 D. GdaR & g4 Td IR

[ Question ID : 7532291926

Q.17
Ans

Comprehension:

frfafed e o1 egde srereH SR U=l & IR G-

T IR 30 U9 & SR ¥ T 1 el & ol iy 3 €1 i
Ffl T-1A ¥, W 98 ¥, df Y GadR o S SIorGReNe d 8]
aaah?waﬁmﬁg&'ﬁﬁwﬁwsﬁmiﬂ?ﬁ |2 e G
g T I fah g3 I Teb I, T T, Ueh SR U4R H BT
qé@'cﬁélﬁﬁﬁmﬁ%mﬁﬁ@ﬁﬁaﬁaﬁ%q&fﬁwﬁﬁﬁaﬂ?@ﬁﬁmﬁa
B1a ¢ 3R fomr fopelt & ureht fer, fomTm fopelt & g fOremme W €1 “Sitae & g # Farg & 3R
T B! I IR T3 3 T g 37 | e B g BIShR Siiad & 3fer $i Igi § Ugd a9 Y
7 fEa 1+ o) IR T Hew B

SubQuestion No : 17

IW TR F R, A A | H-91 HU= I 8 82

o A. R & T S BREM B B

7< B. T R 30 UH & SR J AN 1 TaT & forw oy a1 B

X C. 3R Sita ¥t a1 B 9 U1 81 § SR o foeft o it few, o fomeht 3 g frame
TG &l
2 D. dikar gasn el ok 78 et 21

Question ID : 7532291925
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Q.18
Ans

Comprehension:

e e &1 ergde erT TR Ul & SaR ifvTe-

= AR 307 O & SR A Al oY FeT & forg iy 3 ¥ kel Y oifieafd B ueR A SR R,
FHt TS3-TRA W, A 8 Y, d AU TAaR & G Sfere = w37 J gt 7, @ dft sfia & g
T 3R TG BT TN A G O 1T faRad bR IR 81 o1 & | IRl Ueb YR I 3fd: IRom

STa Ft 3T I go avft T I, T ¥, Ud 9R UOR # &7 75 | IRaT ga=n FrRieft ofik
TN T IR B TR F SREF TET 811 A A 2aER F gl B Hifd e 4 a7 F T e
B € 3R fomr fopet & it g, fomm fopeht & g e g 81 Sfia & g & Farg &1 3R
T P T IR Tgdl 9 T ol S| TTER B g BISHR Silad b eI I del § Ugd dd ¢
A1 Rl |+ ag! dRal T Hew g

SubQuestion No : 18

ST T & SUR, dRa1 Ft sifafd A A A fParer A8 8 2

o A T TSA-TRA T, WA 98 ¥, @ Y IAGR & I e B 9 it g
X B.@SA-TRA Y

X C.dY IaR & IrHH Sfcied B 9

X D.gIweH

Question ID : 7532291924

Q.19
Ans

Comprehension:

ffRad TRl o1 eFydd S1erae R U=Al & IR aiford-

T 4R 3o U9 & SRV AT &) el & forg sty 3d 8| dRar ot sifiefdd &% UeR 9 gt €,
B TSA-TRA F, G T8 §, A A TR b T Seig B Q el 8, df Bt Sftad & e
T 3R YT B! IR T g oI o7 faRad g1epR IR 81 911 & | dRall Uh YbR 1 37c: TROm

S it ITHT BT g avt T I, U T, U S8R TR H BT 778 | IRl ga= FRIch 3R
T BN 81 IR B T S SREF TeT 811 A ) 2aER P g&l B Hifa st w4 a7 F T e
B1a & 3R R foret & i R, fomtn el 3 g firemme sl 81 “oftat & g & P & 8ik
T DI I IR TGl 4 T ol SISl | 916X B A BISHR oflaH o $iaR &1 dol H Ugd ad AU
1 el |« gt dRaT B HeW B

SubQuestion No : 19

S e  IRY @1 ga fe ga & wifa it s 32
X A dud &ge
X B. UGS & gé&f|

X c.F gy
o D. GGAR & J&f

Question ID : 7532291922

Q.20

Ans

Comprehension:

frfafed T &1 egde sereH FR TRl & IaR GifeTe-

T IR TR 09 & SR Y AN 1 a1 & e iy 3 8 1 dRaT ot sifiyeafad v UeR A 8t R,
FHH TSA-TRA W, A M T, Al AU TR & A Sfeie B J g1t 7, @ dft sfiad & g
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Question ID : 7532291923
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Section : Discipline1

Q.1 A current of 1.0 A is drawn by a filament of an electric bulb for 4th part of an hour. Find
the amount of electric charge that flows through the circuit.

Ans o A 900C
X B.810C
X c.720cC
X D.960C

Question ID : 7532291942

Q.2 Sl unit of power of lens is:
Ans X A.m

X B.m?3
« C. m’!
X D.m?

Question ID : 7532291931

Q.3 For an object moving along a straight line without changing its direction the-
Ans X A. distance travelled > displacement

X B. distance travelled < displacement
«" C. distance travelled = displacement

#< D. distance is not zero but displacement is zero

l Question ID : 7532291940
Q.4 The dimension of speed is-
Ans XA LT3
X B.LT?

Xcur
& D.LT!

Question ID : 7532291939

Q.5 An optical fibre is a very thin fibre made of

1. Glass
2. Copper
3. Plastic

Ans X A 1only
" B. 1and 3 only
X C.1and2only
X' D.1,2and3

Question ID : 7532291930
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Q.6 Which of the following is/are the law/s of reflection in case of a light ray reflected by a
smooth surface?

1. The angle of incidence is equal to the angle of reflection

2. The incident ray and the reflected ray are not co-planar

3. The incident ray, the reflected ray and the normal to the reflecting surface at the
point of incidence are co-planar

Ans # A.1and 3 only
/< B.3only

X C.1only
2 D.1and2only

Question ID : 7532291927

Q.7 A wave of wavelength 0.50 cm is produced in air and it travels at a speed of 250 ms™.
What will be the frequency of the sound?

Ans X A. 70,000 Hz
«” B. 50,000 Hz
< C. 60,000 Hz
< D. 40,000 Hz

Question ID : 7532291933

Q.8 Which of the following law/principle has/have been applied to form the principle of
hydraulic lift used to raise heavy loads?

Ans X A. Both Pascal's law and Archimedes Principle
" B. Pascal’s law
25 C. Archimedes Principle

#< D. Newton’s third law of motion

Question ID : 7532291937

Q.9 Which of the following rules is used to determine the dire
motor?

Ans X A.Palmer’s Right-Hand Rule

25 B. Fleming’s Right-Hand Rule
4" C. Fleming’s Left-Hand Rule
< D. Palmer’s Left-Hand Rule

Question ID : 7532291945

Q.10 If we hang a bar-magnet with a string, it will always rest in the direction of-
Ans X A. East-West

& B. North-East
4 C. North-South
/< D. West-South

Question ID : 7532291944
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Q.11 The curvature of the lens of an eye is altered by
Ans o A. Ciliary muscle

#% B. Retina
/< C. Vitreous humour
. D. Cornea

Question ID : 7532291932

Q.12 Who of the following devised barometer?
Ans o A Torricelli

< B. Bernoulli
X C. Pascal
< D. Archimedes

Question ID : 7532291935

Q.13 The waves with the frequency below the audible range are called —

Ans o A. Infrasonic waves
& B. Hypersonic waves
25 C. Supersonic waves

#< D. Ultrasonic waves

Question ID : 7532291934

Q.14 Which of the following statements is incorrect?

Ans X A.AC (Alternating Current) is transmitted from electricity generation centers to houses
and industries through high voltage transformer (step up transformers) at very high voltage.

25 B. Major portion of AC flows through the upper portion of a wire.

/< C. DC of same voltage as AC is more dangerous b e i eci flow,e
current doesn’t change.
¥ D. Devices like electric motor that work on DC (Di r s t e

that use AC.

Question ID : 7532291946

Q.15 Which of the following represents the critical angle of a medium(8.), for light going
from the medium to the air? (Given p; =1 and pq = p)

Ans X A 8. = sin!p
+ B. 0. =sin? (1/p)
X C @ =sin (1/p)
X D. B: =cos!(1/p)

Question ID : 7532291929

Q.16 Which of the following statements is/are true?

1. The intermolecular forces are less in liquids in comparison to solids.
2. The shape of liquid can easily be changed.

3. The volume of a given mass of liquid can easily be changed.

4. The volume of a given mass of liquid is not so easy to change.

Ans X A Only 1and 4
& B.Only 1and 2
" C.Only 1,2and 4
X< D.Only1,2and 3

Question ID : 7532291936
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Ans

Q.17 Sun radiates about _______joule of energy every second.
X A.3.92x10%8
7< B.3.92 x 1032
2 C.3.92x10%
o D.3.92 x 1028

Question ID : 7532291928

Ans

Q.18 Which of the following statements is/are true?

1. If a body does not change its position as time passes it is at rest.
2. There is no meaning of rest or motion without the viewer.
Choose the correct code.

< B. Neither 1 nor 2
< C.Only2
2 D. Only 1

" A.Both 1 and 2

Question ID : 7532291938

Ans

Q.19 A rifle having a mass of 8 kg fires a bullet at a speed of 300 ms™'. If the rifle recoil with
a velocity of 1.5 ms™! then find the mass of the bullet.

o A.40¢g
7 B.30g
X C.259
X D.35g

l Question ID : 7532291941

Ans

X A 2671s
o B.31.35s
X C.627s

X D.4525s

Question ID : 7532291943

Section : Discipline2

Ans

Q.1 The commonly used unit of power, Horse-power is equal to-

X A 842W
o B.746 W
X C.440W
X D.760 W

Question ID : 7532291953
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Q.2 Solid carbon dioxide is known as dry ice because:

1. It is stored under extreme low pressure to solidify it.

2. It gets converted directly to gaseous state on decrease of pressure to 1 atm without
coming into liquid state.

Choose the correct code:

Ans X A.Both 1and?2
7 B. Only 1
#5 C. Neither 1 nor 2
" D.Only 2

Question ID : 7532291956

Q.3 According to Thomson’s model of an atom:
1. An atom consists of a positively charged sphere and the electrons are embedded in
it.
2. The negative and positive charges are not always equal in magnitude. So, the atom

as a whole is not always electrically neutral.
Choose the correct code:

Ans X A.Only?2
/5 B.Both 1and 2

4 C.Only 1
2 D. Neither 1 nor 2

Question ID : 7532291963

Q.4 Which of the following is known as the law of definite proportions as stated by
Proust?

Ans X A.In a chemical substance the elements are always present in definite proportions by
volume.

< B. In a chemical substance the elements are always present in definite proportions by

heat.

25 C. In a chemical substance the elements are alwa entad ni i
density.

" D. In a chemical substance the elements are alwa i o

mass.

Question ID : 7532291959

Q.5 What is the atomic radius of hydrogen atom?
Ans X A.23nm

" B.37 pm
< C.47 mm
& D.37nm

Question ID : 7532291966

Q.6 Which of the following is emitted when hydrogen is burned?
Ans o A Water-vapour

& B. Methane
2% C. Both methane and water-vapour

#< D. Carbon dioxide

Question ID : 7532291950
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Q.7 The melting point of ice is:
Ans X A 373K

# B.23751K
& C.273.15K
2 D.473.15K

Question ID : 7532291958

Q.8 Which of the following gases makes 75 percent of bio-gas?
Ans X A.Urea

/< B. Butane
4" C. Methane
2 D. Ammonia

Question ID : 7532291947

Q.9 Which of the following is true?

1. The rate of diffusion of liquids is higher than that of solids.
2. Gases are highly compressible as compared to solids and liquids.
Choose the correct code.

Ans X A.Only 1
 B. Only 2
#5 C. Neither 1 nor 2
" D.Both 1 and 2

p— - — - - —

Question ID.. 7532291955

Q.10 The plasma state of matter consists of :

Ans X A. Extremely stable particles of a liquid and charged particles of @ noble under
extremely low temperature

" B. Extremely energetic and excited form of jonise
. C. Extremely stable and uncharged neutrons of several gases

25 D. Extremely charged particles of gases under very low temperature

Question ID : 7532291957

Q.11 In 1961 for a universally accepted atomic mass unit, isotope was chosen as the
standard reference for measuring atomic masses.

Ans X A. carbon-1
& B. hydrogen-2
25 C. oxygen-6
" D. carbon-12

Question ID : 7532291961

Q.12 Which of the following is not a postulate of Dalton’s atomic theory?
Ans X A. Atoms of a given element are identical in mass and chemical properties.

< B. All matter is made of very tiny particles called atoms.
& C. The relative number and kinds of atoms are constant in a given compound.

4" D. Atoms combine in the ratio of small real numbers to form compounds.

Question ID : 7532291960
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Q.13 Which of the following statements is incorrect about biofuel?

1. It is an important fuel produced from leftover food products like vegetable oils and

animal fats.

2. It can be made when large amounts of crops high in sugar or starch content are
grown, and then fermented with yeast to produce ethyl alcohol or ethanol.
Choose the correct code.

Ans o A. Neither 1 nor 2
#< B.Both 1and 2
< C.Only 1

2 D.Only2

Question ID : 7532291949

Q.14 Which of the following countries is known as the country of the ‘winds’?
Ans o A Denmark

/< B. Germany
/< C. France
& D.India
Question ID : 7532291948
Q.15 For generating wind energy, the wind speed should be higher than to maintain

the required speed of the turbine.
Ans X A.5km/h

< B. 10 km/h
< C.8km/h
& D. 15km/h

Question ID : 7532291952

Q.16 The number of atoms constituting a molecule is kno it:
Ans X A. Atomic mass

#< B. Atomic number
& C. Atomic weight
" D. Atomicity

Question ID : 7532291962

Q.17 It was found that the Law of Octaves was applicable only upto
Ans  # A. Calcium

< B. Magnesium
25 C. Nitrogen
X D.lron

Question ID : 7532291964

Q.18 Mendeleev’s Periodic Law states that:
Ans  # A. The properties of elements are the periodic function of their atomic masses.

. B. The properties of elements are the periodic function of their ions.
25 C. The properties of elements are the periodic function of their atomicity.

25 D. The properties of elements are the periodic function of their atomic numbers.

Question ID : 7532291965
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Q.19 Which of the following have a tendency to maintain their shape when subjected to
outside force?

Ans X A Gases
¥ B. Solids
< C. Liquids

25 D. Aerosols

Question ID : 7532291954

Q.20 Which of the following types of coal has the highest calorific value?
Ans X A Peat

¥ B. Anthracite
& C. Sub-bituminous
25 D. Lignite

Question ID : 7532291951

Section : Discipline3

Q.1 Which of the following is also known as Crooke’s glass?
Ans " A. Flint or optical glass

/< B. Borosilicate glass
X C. Hard glass
#5 D. Fibre glass

[ Question ID : 7532291980
Q.2 Which of the following is not an example of exothermic reacti
Ans X A. Decomposition of vegetable matter into compost
" B. Ammonium chloride dissolves in water

Z< C. Burning of natural gas

2 D. Respiration

Question ID : 7532291969

Q.3 Compounds of carbon, which are linked by only single bonds between the carbon
atoms are called compounds.

Ans X A. Neutral

/< B. Unsaturated
& C. Unstable
" D. Saturated

Question ID : 7532291976

Q.4 An alkali is a base which is -
Ans X A. never stable

25 B. highly basic in pH
¥ C. soluble in water

25 D. highly reactive

Question ID : 7532291971
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Q.5 Which of the following general properties for ionic compounds is true?
Ans X A. lonic compounds are very flexible and never break easily when pressure is applied.

2% B. lonic compounds are easily soluble in solvents like kerosene and petrol.
25 C. lonic compounds conduct electricity in solid state.

¥ D. lonic compounds have higher melting and boiling points.

Question ID : 7532291975

Q.6 Which of the following products consists of a mixture of potassium chlorate and
antimony trisulphide bound together by glue?

Ans X A. Detergents
/< B. Soaps
& C. Candles
4" D. Matchstick heads

Question ID : 7532291979

Q.7 Which of the following is an incorrect option regarding universal rules of
nomenclature?

Ans X A. The first word in a biological name represents the genus
. B. Both the words in a biological name, when handwritten, are separately underlined
25 C. Biological names are generally in Latin and written in italics

" D. First word denoting the genus starts with a small letter while the specific epithet
starts with a capital letter

[ Question ID : 7532291986

Q.8 The of elements is explained as their tendency to attain a completely filled
outer shell.

Ans X A.density
/< B. pressure
X C. weight

" D. reactivity

Question ID : 7532291977

Q.9 Which of the following reacts vigorously with water to produce slaked lime releasing a
large amount of heat?

Ans X A. Calcium
#5 B. Calcium bromide
4 C. Calcium oxide
X D. Sulfuric Acid

Question ID : 7532291968

Q.10 Which of the following products is available from Hevea brasiliensis?
Ans X A.Nylon

/5 B. Rayon
4" C. Natural rubber
< D.PET

Question ID : 7532291981
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Q.11 Which of the following is an example of conventional non-renewable energy sources?
Ans X A. Solar energy

/< B. Biogas
" C. Natural gases

& D. Geothermal energy

Question ID : 7532291985

Q.12 Goitre is caused due to deficiency of:
Ans X A.lron

< B. Fluorine
4" C. lodine
2 D. Vitamin K

Question ID : 7532291984

Q.13 All metals except exist as solids at room temperature.
Ans o A Mercury

< B. Caesium
< C. Gallium
75 D. lodine

Question ID : 7532291974

Q.14 Acetic acid (CH;COOH) has a melting point of:
Ans X A 90K

25 B.209 K
X C.156 K
" D. 290 K

Question ID : 7532291978

Q.15 Which of the following is the most ductile metal?
Ans X A Silver

< B. Copper
25 C. Platinum
«" D. Gold

Question ID : 7532291973

Q.16 Scurvy is caused due to deficiency of:
Ans X A. Vitamin B

#< B. Vitamin A
¥ C. Vitamin C
25 D. Vitamin D

Question ID : 7532291983
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Q.17 Acid + Metal — Salt +
Which of the following is needed to complete the reaction above?

Ans X A. Nitrogen gas
& B. Ozone gas
" C. Hydrogen gas

< D. Oxygen gas

Question ID : 7532291970

Q18 Which of the following is the correctly balanced
equation for Fe + HzO — Fez0s + Ha?

Ans XA Fe + 4H20 — Fes0s+ Ha
X B. 3Fe + 4H20 — Fez0s+ Ha2
" C. 3Fe + 4H20 — Fez0a4+ 4Hz
X D.3Fe + HzO — Fesz04+ Hz

Question ID : 7532291967

Q.19 Outer solid crust of earth is known as-
Ans X A. Stratosphere

& B. Mesosphere
" C. Lithosphere
25 D. Hydrosphere

[ Question ID : 7532291982

Q.20 Which of the following is false?
Ans X A. Acidic solutions in water conduct electricity because they produce hydrogen ions.
#< B. When abase reacts with a metal, the salt forme n ive i the
metal.
i |

& D. Water of crystallisation is the fixed number of water molecules present in one formula
unit of a salt.

4 C. Acidic nature of a substance is due to the form

Question ID : 7532291972

Section : Discipline4

Q.1 The ability of the eye lens to adjust its focal length is called
Ans o A. Accommodation

. B. Reflection
X C. Power
/< D. Refraction

Question ID : 7532291998

Q.2 Fusion of gametes is not involved in —
Ans X A isogamy

«# B. asexual reproduction

5 C. amphimixis

#< D. sexual reproduction

Question ID : 7532291993

https://cdn.digialm.com//per/g01/pub/1258/touchstone/AssessmentQPHTMLMode1/1258021437/1258021437S76D33/16328349647733845/4...  39/46



10/1/21, 10:35 AM https://cdn.digialm.com//per/g01/pub/1258/touchstone/AssessmentQPHTMLMode1/1258021437/1258021437S76D33/163...

Q.3 Which of the following should not be included in Volatile organic compounds (VOCs)?
Ans  # A. Glycerol

#5 B. Toulene
/X C.Benzene
& D. Methane

Question ID : 7532292002

Q.4 What is the temperature at which the water vapour begins to change into water drops?
Ans X A. Frost point

< B. Freezing point
4" C. Dew point

2 D. Crystallisation point

Question ID : 7532292003

Q.5 Which of the following organs if get damaged will cause visual impairment?

1. Pupil
2. Retina
3. Optic nerve

Ans X A.1and 3only
" B.1,2and3
2 C.1only
/< D.2and 3 only

p— - — - - —

Question ID.. 7532291989

Q.6 Mark the incorrect statement regarding Autotrophic nutrition.

1. Carbon and energy requirements of the autotrophi ni fulfi
photosynthesis

2. It is the process by which autotrophs take in sub

convert them into stored forms of energy.

3. Substances are taken in the form of carbon dioxide and methane which is converted
into fats in the presence of sunlight and chlorophyll.

Ans X A Only2
#< B.1and 3 only
& C.2and 3 only
o D.Only 3

Question ID : 7532291987

Q.7 Why presbyopia occurs?

1. Due to gradual weakening of ciliary muscles
2. Diminishing flexibility of eye lens

Ans X A Only1
X B. Only 2
25 C. Neither 1 nor 2
" D. Both 1and 2

Question ID : 7532292000

https://cdn.digialm.com//per/g01/pub/1258/touchstone/AssessmentQPHTMLMode1/1258021437/1258021437S76D33/16328349647733845/4...  40/46



10/1/21, 10:35 AM https://cdn.digialm.com//per/g01/pub/1258/touchstone/AssessmentQPHTMLMode1/1258021437/1258021437S76D33/163...

Q.8 Movement in plants that occurs in response to light intensity is known as-
Ans  # A. Photonasty

25 B. Photo motorism
/X C. Photo sensitivity
2 D. Photo philia

Question ID : 7532291988

Q.9 What do the plants convert the nitrates and nitrites into after they fix the atmospheric
nitrogen?
Ans X A. Methane

" B. Amino acid
& C. Nitric acid
X D. Urea

Question ID : 7532292005

Q.10 If the tails of mice are removed by surgery in each generation, do these tailless mice
have tailless progeny?
Ans  # A. No, because removal of the tail cannot change the genes of the germ cells of the
mice.

& B. The length of the tail reduces with each generation and eventually gets lost.

25 C. Yes, there will be change in sex choromosomes

25 D. Yes, because removal of the tail can change the genes of the germ cells of the mice

[ Question ID : 7532291996

Q.11 Ganga action plan was initiated to reduce:

Ans 4 A. Pollution [oad
25 B. Oil exploration
X C. Construction of dams a

< D. Flooding

Question ID : 7532292001

Q.12 Which of the following organism reproduces asexually by spore formation?

1. Mucor
2. Penicillium
Choose the correct code—

Ans  # A Both 1and 2
< B.Only 1
& C. Neither 1 nor 2

< D.Only 2

Question ID : 7532291994

Q.13 Which of the following statements is incorrect?
Ans X A. The biodiversity in an area is determined by the quality of topsoil largely.

" B. Humus causes the soil to become less porous.
< C. Earthworms are a major contributor to formation of humus.

X D. Fertilizers and pesticides can destroy the soil structure.

Question ID : 7532292004
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Q.14 Mark the correct statement regarding sex chromosomes?

1. Women have a perfect pair of sex chromosomes, both called X
2. Men have a mismatched pair in which one is a normal-sized X while the other is a

long one called Y
Ans X A. Neither 1 nor 2

75 B.Both 1and 2
«" C. 1only
< D.2only

Question ID : 7532291995

Q.15 Wings of bats are skin folds stretched mainly between elongated fingers. But the
wings of birds are a feathery covering all along the arm. The designs of the two wings,
their structure and components, are thus very different. They look similar because
they have a common use for flying, but their origins are not common. Which type of
characteristic/s is this?

1. Homologous characteristic
2. Analogous characteristic

Ans o A 2only
/5 B.Both 1and 2
#< C. Either 1 or 2

X D.1only

Question ID : 7532291997

Q.16 Which of the following is a fodder crop?
Ans X A Lentil

X B. Castor
«” C. Oats
75 D. Sesame

Question ID : 7532292006

Q.17 Oxygen is found in the elemental form in the atmosphere to the extent of:
Ans  # A 21 percent

25 B. 80 percent

& C. 96 percent

25 D. 33 percent

Question ID : 7532291990

Q.18 The upward and downward growth of shoots and roots, respectively, in response to
the pull of earth or gravity is known as:

Ans 4 A. geotropism
& B. chemotropism
25 C. phototropism
25 D. hydrotropism

Question ID : 7532291991
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Ans

Q.19 The roots of plants have an important role in preventing:

" A. soil erosion
< B. earthquake
2 C. humidity
& D. pests

Question ID : 7532291992

Q.20

Ans

If one wants to donate his/her eye, then after how much time after death, eyes should
be removed from body?

X A.6-12 hrs
" B.4-6 hrs
% C.12-24 hrs
X D.7-8hrs

Question ID : 7532291999

Section : Discipline5

Q.1 Which of the following has the highest percentage of fats?
Ans X A. Fish
< B. Milk (Cow)
¥ C. Egg
< D. Meat
[ Question ID : 7532292009
Q.2 Which of the following is a Zaid crop?
Ans X A. Lahi
5 B. Arhar
& C. Tobacco
" D. Gourd
Question ID : 7532292011
Q.3 Why is dwarfness desired in cereals?
Ans X A. lts quality is enhanced.
X B. These crop-varieties are very tasty.
4" C. Less nutrients are consumed.
X D. It requires less sunlight.
Question ID : 7532292007
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Q.4 Which of the following problems arise if excessive fertilisers are used?

1. Water pollution
2. Destruction of soil fertility
Choose the correct code.

Ans X A Only?2
#< B. Neither 1 nor 2
& C.Both 1and 2

25 D. Only 1

Question ID : 7532292008

Q.5 Which of the following fish varieties is not a marine fish variety?
Ans  # A Catla

< B. Tuna
< C. Pomphret
& D. Mackerel

Question ID : 7532292010

Q.6 Bos Indicus is a/an-
Ans X A. Indian buffalo

+" B. Indian cow
2% C. Indian honeybee
2 D. Indian hen

p— - — - - —

Question ID.. 7532292013

Q.7 Cerocen and Agrocen are used for-

Ans X A eliminating weeds
X B. growth hormones in cattle a
" C. treatment of seeds

#< D. increasing the soil-fertility

Question ID : 7532292012

Q.8 Apis florae is a type of .
Ans X A. Flower

< B.Hen
«# C.Bee
< D. Cow

Question ID : 7532292016

Q.9 Which of the following is the practice of controlling the establishment, growth,
composition, health, and quality of tree to meet diverse needs and values?

Ans X A. Afforestation
«# B. Silviculture
25 C. Horticulture

#< D. Reforestation

Question ID : 7532292015
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Q.10 When boiled water is allowed to cool, heavy impurities collect at the bottom and
dissolved salts form a thin layer on the surface called-

Ans X A. Slug
" B. Scum
25 C. Impurities
< D. Waste

Question ID : 7532292014

Section : Teaching Methodology

Q.1 Which of the following sections of the Right to Education Act, 2009 provides for the
Right to transfer to other school?

Ans X A6
X B.7
& C.5
X D.8

Question ID : 7532292020

Q.2 In which of the following stages should science be introduced as separate disciplines
with emphasis on experiments/technology and problem solving?

Ans X A. Upper primary stage
/< B. Primary stage
/5 C. Secondary stage
4" D. Higher secondary stage

Question ID : 7532292021

Q.3 The average nutritional intake of women in India is e
Ans X A. 1800 calories daily

25 B. 2000 calories daily
5 C. 2500 calories daily
" D. 1400 calories daily

Question ID : 7532292024

Q.4 What is the full-form of CCE?
Ans X A. Continuous and Cumulative Education

25 B. Complete and Comprehensive Education
4" C. Continuous and Comprehensive Evaluation

X D. Continuous and Cumulative Evaluation

Question ID : 7532292026

Q.5 In which age can a child generally start to name colours?
Ans X A.7-8years

/5 B. 3 years
X C.2vyears
" D.4-5years

Question ID : 7532292023
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Q.6 In which year was EDUSAT launched?
Ans A 2004

# B. 2001
X C.2007
2< D. 2000

Question ID : 7532292022

Q.7 In which of the following teaching methods the whole class is divided into different
homogeneous small sections on the basis of abilities so that teacher can remove their
difficulties by giving them individual guidance?

Ans X A. Question-answer method

& B. Lecture method

/5 C. Demonstration method

4" D. Tutorial method

Question ID : 7532292018

Q.8 Who out of the following had developed the theory of trial and error learning?
Ans  # A E.L.Thorndike

/< B.E. C. Tolman
X C.J.B. Watson
< D. B. F. Skinner

[ Question ID ; 7532292017

Q.9 Who has said, “Scientific method consists of systematic observation, classification
and interpretation of data”?

Ans " A. Lundberg
< C. Koils

< D. Pearson

Question ID : 7532292025
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Q.10 Which of the following types of home-assignement can be given to the students?

1. Informational
2. Study type
Choose the correct code.

Ans X A Only1
< B. Neither 1 nor 2
X C.Only2
4" D.Both 1and 2

Question ID : 7532292019
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